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ARSI BT IR IR

EH® NS R511.7TET

BT I2KES ik f+ER
¥EEk—TH 1 F 26 5| ERSE—T A 330 Fith 481 R3.5.13
¥EEdk—TH 2 % 8 5| ERSE—T A 330 FEith 443 RI1.11.5
sk —TH 2 F 14 5| ERSE—T A 330 Fi 441 H27.3.23
¥EE—TH 2 & 21 5| ERSAE—T A 330 FEith 437 R4.8.23
¥EEdk—TH 2 & 21 5| ERSAE—T A 330 FEith 437 R4.8.23
g —-TH 3 F 10 5| ERSAE—T A 330 i 433 H24.3.14
¥EFIL—TH 3 & 14 5| ERSAE—T A 330 FEith 431 155 TR 2 AT K BE L R4.8.4
¥EFIL—TH 3 & 14 5| ERSE—T A 330 Fith 431 15 5 TR 2 AT K BE L R4.8.4
¥iEEdk—TH 3 & 17 5o | ERSE—T A 330 FEith 855 128.8.3
gk —TH 3 F 18 5| ERSAE—T A 330 Fi 429 H29.2.13
sk —TH 3 F 28 5| ERSE—T A 330 i 424 H26.9.12
¥EEdk—TH 4 % 6 5| ERSAE—T A 330 FEith 469 R1.7.9
¥EE—TH 4 & 25 5| ERSAE—T A 330 FEith 454
¥EEk—TH 4 & 25 5| ERSE—T A 330 Fith 454 R5.8.22
sk —TH 5 & 4 5| ERSAE—T A 1410 FHh 152 1410-129,330-376,330-849 |24.12.3
gk —TH 5 & 7 5| ERSAE—T A 330 Fi 375 H24.12.3
sk —TH 6 F 26 5| ERSE—T A 330 Fi 368 H29.5.15
gk —TH TF 21 5| ERSAE—T A 330 Fi 287 H23.8.26
g —-TH 8 F 10 5| ERSAE—T A 330 i 729 H23.11.21
Tk =TH & 20 5| ERSAE T A 330 Fi 411 H26.10.17
¥R =TH 2 & 14 5| ERSFAE T A 330 FEith 494 R1.5.21
¥R =TH 4 % 5 5| ERSAE T A 330 FEith 406 H25.7.1
Tk =TH 4 F 1 5| ERSAE T A 330 i 678 H23.3.31
Tk =TH 4 F 39 5| ERSFAECT A 330 Fi 408 H23.12.1
¥R =TH 5 % 13 5| ERSAE T A 330 FEith 2697% R4.2.17
Ik =TH 5 F 34 5| ERSFAE T A 330 Fi 272 H24.10.9
¥R =TH 6 & 16 5| ERSAE T A 330 FEith 243 H23.5.2
¥R =TH 6 & 17 5| ERSAE T A 330 FEith 874 H27.7.2
Tk =TH 6 F 17 5| ERSFAE T A 330 Fi 242 H27.7.2
Tk =TH 6 F 36 5| ERSAE T A 330 i 235 H27.10.20
Tk =TH TOF 12 5| ERSAE T A 330 i 229 H23.11.21
Tk =TH TOF 1T 5| ERSAE T A 330 i 227 H30.11.5
Tk =TH 7T F 38 5| ERSAE T A 330 Fi 216 H29.5.10
¥R =TH 8 & 2 5| ERSAE T A 330 FEith 267 1126.8.26
¥R =TH 8 & 7 5| ERSAE T A 330 FEith 877 R4.2.28
¥R =TH 8 % 8 5| ERSAE T A 330 FEith 263 R3.5.10
¥R =TH 8 & 11 5| ERSAE T A 330 FEith 876 R4.9.29
Tk =TH 8 #F 31 5| ERSAE T A 330 i 258 H31.2.25
Ik =TH 9 F 27 5| ERSFAE T A 330 Fi 583 H29.9.22
Ik =TH 9 F 28 5| ERSFAE T A 330 i 582 H29.9.22
Ik =TH 10 #F 17 5| ERSFAE T A 330 Fi 208 R1.12.17
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ARSI BT IR IR

EH® NS R511.7TET

BT I2KES ik f+ER
Ik =TH 10 #F 42 5| ERSFAE T A 330 Fi 203 H28.8.17
Tk =TH 10 #F 45 5| ERSAE T A 330 i 204 H27.6.19
Tk =TH 11 #F 14 5| ERSFAE T A 330 Fi 871 H26.7.1
Ik =TH 1 #F 17 5| ERSFAE T A 330 Fi 341 H26.6.20
Tk =TH 11 #F 27 5| ERSAE T A 330 i 339 H23.2.1
Tk =TH 12 F 7 5| ERSAE T A 330 i 333 H25.3.25
Ik =TH 12 % 8 5| ERSFAE T A 330 Fi 331 H24.10.23
Tk =TH 12 % 15 5| ERSAE T A 330 i 585 H23.4.7
Tk =TH 13 % 1 5| ERSAE T A 330 i 873 H27.6.1
Ik =TH 13 F 2 5| ERSFAE T A 330 Fi 872 H27.11.27
Tk =TH 13 F 3 5| ERSFAE T A 330 i 329 H27.9.9
Tk =TH 13 % 8 5| ERSAE T A 330 Fi 326 R4.3.16
IR =TH 5 F 14 5| ERSFAE=THA 2150 22 H29.5.30
FEFIL=TH 5 F 15 5| ERSFAE=THA 2150 23 H29.8.18
¥HEEIL=TH 5 & 20 5| ERSFAE=THA 2150 25 D—H R4.8.31
¥HEFIL=TH 5 % 21 5| ERSFAE=THA 2150 25 D—H R4.2.1
¥EEIL=TH 6 & 14 5| ERSAE=TA 2147 i 9 R1.8.20
IR =TH 6 F 15 5| ERSFAE=THA 2147 FH 10 H25.3.28
¥HEEIL=TH 7% 9 5| ERSAE=THA 2148 14 R5.10.31
¥EEIL=TH T & 32 5| ERSFAE=THA 2144 5 H25.5.16
¥EFIL=TH 7 & 50 5| ERSFAE=THA 2144 16 R4.4.26
¥HEEIL=TH 7 & 50 5| ERSAE=THA 2144 16 R4.4.26
Ik =TH 7 F 51 5| ERSFAE=THA 2144 FH 17 H30.2.28
IR =TH 9 % 6 5| ERSFAE=THA 330 Fi 727 H23.12.14
¥EEIL=TH 9 % 8 5| ERSAE=TA 330 FEith 872 H23.12.2
TN T A 1 % 1 5o | ERSEEUT A 330 FEith 871 R5.1.12
TR T A 1 % 2 5o | ERSEEUT A 330 FEith 872 R5.1.12
TN T A 1 % 3 5o | ERSEEUT A 330 FEith 870 F30.8.20
kM T A 1 3% 5 5o | ERSEEUT A 330 Fi 318 H30.8.20
TR T A 1 #F 26 5o | ERSEEUT A 330 FEith 319 R5.1.12
TR T A 2 %1 5o | ERSEEUT A 330 FEith 604 H30.7.9
TN T A 2 % 3 5o | ERSEEUT A 330 FEith 308 H31.2.1
TN T A 6 % 3 5| ERSEEUT A 2132 i 17 R1.11.25
k™ T A 6 F 18 5o | ERSEEUT A 2132 FHH 4 H22.12.24
k™ T A 6 F 48 5o | ERSEEUT A 2132 FHH 21 H26.8.14
TN T A 7T & 25 5o | ERSEEUT A 2131 il 21 H23.4.7
TN T A 7T % 38 5o | ERSEEUT A 2131 il 7 29.4.20
TR T A 1 F 2 5| ERSAEE T A 2128 21 it 2128%24 R3.6.4
TR LT A 2 &1 5| ERSFAEET A 2128 12 H23.11.1
TR LT A 2 F 23 5| ERSFAE T A 2128 5 H26.1.31
TR LT A 3 F 18 5| ERSFAEET A 2128 27 H27.4.7
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BT I2KES ik f+ER
TR T A 5 & 12 5| ERSFAEET A 2128 52 H27.9.29
PRI T A 5 % 18 5| ERSAEE T A 2128 il 48 H31.2.6
FEFIRT B 2 &1 5| BRSNS T A 1491 FHh 228 H22.11.11
BT B 2 F 29 5| ERSEEST A 1491 FHh 225 R3.7.28
FEFIRT B 3 F 10 5| BRSNS T A 1491 FHh 177 H23.10.7
FEFRT B 4 F 14 5| ERSEEST A 1491 FHh 168 H24.5.25
BT B 5 F 2 5| ERSEEST A 1491 FHh 293 H30.1.15
FHEFILRT B 5 % 3 5o | BRSNS T A 1491 FHh 292 H30.2.2
FEFIRT B 5 & 4 5o | BRSNS T A 1491 FHh 290 H30.2.19
BT B 5 F 13 5| ERSEEST A 1491 FHh 269 H29.12.22
FHEFILRT B 5 F 15 5| ERSEEST A 1491 FHh 119 H29.11.17
TR T B 5 F 17 5o | BRSNS T A 1491 FHh 163 H24.9.11




